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General Quadrilateral (9= agy+):

M ADC+ o ABC







General Quadrilateral (9= agy+):

1 ,
Area = 7 X d, X d, - sinf




General Quadrilateral (9= agy+):

Sin(l 30-9)=Sin® y c.drc"«;%’

D"l/

) :
-5_b CgmB

a1><a2=a3><a4




4. The diagonal of a quadrilateral shaped
field is 24m and the perpendiculars
dropped on it from the remaining
opposite vertices are 8m and 13m. The
area of the field is?

fFfl aplsr IFR & A F
faFor 24m wFar § 3T S Q=
ofist & 39 Aol W s sl Y
oFaT$ 8m 3 13m ] 39 g &
ATH IdT HI|

a) 156 m? b) 1152 m?

c) 96 m? A252 m?




2. ABCD is a quadrilateral. The diagonal4of
ABCD intersect at the point P. The area of
the triangle APB and CPD are 12 and 27,
respectively. If the areas of the triangle
APDis 13.5 cm?, then find the area of
triangle BPC?

ABCD W& uqds 8| dqder & fawor
T gEY # fig P W Fied ¥ g
APB 3R st CPD F &a%d FHA:
12 3R 27 ¥ AR POl &1 &ww
13.5cm? 8| a9 T3 BPC &1 &F%d

? Eyl

- 24 b)15.5

X=Qy ¢)19.5 d)36

| 8



General Quadrilateral (9= agy+):

ar AADC . DO
ar AABC  BO

D8 _ mrp

DO eo ar ABAD _ AO
:)ﬂ:\_}_t) K \/ \ ar ABCD ~ CO

5P R0

haight S a1 vohid = diasanaly -
y M%’;&;é/

D —




3. AABC and ADBC are on the same
base BC but on opposite sides of it. AD

"\ g C and BC intersect each other at O. If
NP AO =acm, DO =bcm and the
, area of AABC = x cm?, then what is
- 7 the area (in cm?) of ADBC?
‘Q . AABC 3R ADBC WA 3R BC
W g dfpad sah R{odad T g
B D AD 3 BC TH W A 0 W

Fread g IE A0=acm DO =

Lz& bem HR AABC &1 8% =
ADBc. b g;nmz g ar A%Bc FT &A% (T
H fraer &
by - )
2k =a DRC a)%x b) 2 x
A b 4) &
a 2
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Cyclic Quadrilateral (Tsta agys):




Find the missing value:




Phalmig'< Haoun’
Cdatrion blw Hlljmw/}»dxx& both da’mﬁmaﬂsin

o Odo?fc qrad-
Product Q{) aﬂaﬁnah c
= Suwm of product ¥ D
J5ichy . %

A
ACxRDy = A%yCD + ABX\%C

D — .




Find the missing value:




Y. PQRS is a cyclic quadrilateral in which
PQ =14.4cm,QR =12.8 cm and

M a’. SR = 9.6 cm. If PR bisects QS, what
[ § is the length of PS?

‘“ﬁ”‘"*z'g PQRS TH T T §, o

¢ 32 PQ = 14.433 QR = 12.8 3%

3R SR =9.6 T 8| 3R PR, QS
F AT FXar g, af ps #r
S =02 P T T T §

a) 15.8 cm b) 16.4 cm

c)13.6 cm /,dﬁQ.Z cm




4. PQRS is a cyclic quadrilateral in
R which PQ = xcm,QR = 16.8 cm,
” \6-3RS = 14cm, PS = 25.2 cmand PR
c bisects QS. What is the value of x?
( PQRS wH v e ¥ fore
PQ = xcm, QR = 16.8 cm,
( RS =14 cm, PS = 25.2cm
P

PRQSﬁaﬁ%ﬂﬁaaﬂ?ﬁ%l
8 x & AT 4T §

a)24 %

c) 18 d) 28
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4 ABCD is cyclic quadrilateral in
which AB = 16.5cm, BC =
xcm, CD=11cm, AD =
19.8 cm and BD is bisected by
AC at O. What is the value of x?
ABCD U& THhE TIHe g,

QDD
fS9® AB = 16.5cm, BC =
xecem, CD = 11ecm , AD =
19.8 cm 3R AC,BD # f4g 0
W gRmfea #dt 8§ x &0
AT FAT & ?
a)12.4cm b) 13.8 cm

%13.2 cm d) 12.8 cm
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7 PQRS is cyclic quadrilateral in
2 which PQ=12cm, PS =10 cm,

y SR =6cm and SQ is divided by
/@W,’ ’Z_ S PR in ratio 2:3. What is the length
S B of RQ?
x

PQRS & whE TIT ¥,
S ® PQ =12 cm, PS =10 cm,

IS = SR = 6 cm 3K PR, sQ # g 0
< p Q W 2:3 # fEnfed Fat & RQ
Y FqFAS FATE ?
7.5 b) 8
c)5 d) 10




Parallelogram (9@ia® agy+):

D * c Area=b XxXh
= ab - sin@
b b
:% dle - Sin@
A B
Ce

Peri.= 2(a + b)




1 A parallelogram ABCD has sides
AB =24 cm and AD =16 cm .
D 2 C The distance between the sides AB
o % and DC is 10 cm. Find the distance
between the sides AD and BC.
16 ~ Y6 fret woeaR I ABCD #
10 CEIY AB=24cm 3R AD=
n 16cm%|ﬂG|T3ﬁAB3ﬁTDC3-Ta°EI'
A Qy B # gl 10 cm ¥] sgemmsit AD 3K BC
& fta A gl gar =
3 5 —’ﬁx ‘/) a) 16 cm b) 18 cm
/15 cm d) 26 cm




5 2 32
+5%12-= 185 h

|10=~H

15

|8

h

12—

13

15

2. The adjacent sides of a

parallelogram are 15 cm and 18
cm in length. The distance
between shorter sides is 12 cm.
what is the distance between
the longer sides

12cm ] a9 spomat &
Fr gt 9ar FI
a)8 10
c) 12 d) 15
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3. A parallelogram has sides 15 cm and
7 cm long. The length of one of the
diagonal is 20 cm. The area of
%ﬂlelogram is: S & s
HAT-dAX dd

15 cm 3R 7em §] ﬁ?\':ﬁ Th ﬁﬂﬂﬁ'
T dFAE 20 cm B| SHHT TR
AT Y

a) 42 /84

c) 21 d) 168




Y In a parallelogram ABCD of area
72 sq. cm, the sides CD and AD
have lengths 9 cm and 16 cm,
respectively. Let P be a point on CD
such that AP is perpendicular to
CD. Then the area, in sq cm, of

triangle APD is
/ 16 A A%l 72 sq. cm drd U&H

AT aqelst AT semsit Cp
y %ﬁTADaﬁmﬁgcmaﬁTlscm
N P & CD W TH
% faxp qimfﬁ: AP §TTT cuigaﬁ
EL APD” &1 89%e, aat
. &, gar F
a) 18V3 b) 24+/3
/32\/5 d) 12v3
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4. ABCD is a parallelogram. Points P and
¢ Q@ are on sides AB and B( respectively

such that AP: PB = CQ: CB = 2: 3. Find
b the ratio of areas of pentagon APQCD
& to that of parallelogram ABCD.

| ABCD UF GAWER aais ¥
@9 b p3Rk @ FHU: §T AB IR BC W

A 2 WW%%ABPB CQ:QB =
“P 30 8 2: 3313{%| YOS APQCD IR WA
qq ABCD % &F%el &1 3T
ABP& :_'7_'%7('“%'5' e
BC . 9:10 b) 4:5
D o x 3 Ses. 49'16 d) 3:4

:%l\-_\ A x| £
X% To | LJ Rx53 TQ

D | ™




g In the figure, ABCD is a
parallelogram with area 120
cm? and BX:XC = 3:2,
CD:YD = AZ:ZD = 3:1. Area
of the pentagon AXCYZ is
R &, ABCD ©wF AR
aqiS & foms awer 120

74
cm? § 3R BX:XC=3:2,
CD:YD=AZ:ZD=3:1 @]
9IHIOT AXCYZ T &F9%d

>

ZDY A\ xlxl

ABC) QAxMx2 T &Y
ARy __1x3 07 e
Ry e 1R 3 A
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7. In the given figure, PQRS is a
parallelogram. PM is one-
fourth of PQ and PN is three-
fifth of NS. If the area of
PMRN is 12.5c¢cm?, then
what is area of (cm?) of
PQRS?

v v @7 A, Pars T
AT T3 %| PM, 8=IG|T
PQ 1 T =g ¥ 3k

PN, 83T NS T 3/5 [T 3
afy PMRN &
12.5cm> @§| d9 PQRS &1

a) 60 M 40
c) 37.5 d) 52.5

| | 27




§- ABCD is a parallelogram.
D 8 G P and Q are mid points of
BC and CD. Find the area
of AAPQ if area of ABCD

x| . | is 40 square units.
| 2 2 ZABCD UH FHATA T
—x—= _ ;¥ p 3k q s=met BC Ta CD
2 27y —5 % mex g ¥ B aap
A l; B € F SAIFT AT FO IR
W ABCD &1 &I9%d 40 SHIS
ARD X Lyl A /
e S —-=1 a) 10 15
Uy X 2 Y c) 16 d) 20




9. A parallelogram ABCD has area
D 4 C  (@8cmDif the length of CD is
8 cm and that of AD is scm,
then which one of the following

’L’= 6 A is necessarily, true?
fFdl AR TGt ABCD
L T &% 48cm? ¥ IR
A |P 14 B ST CD &Y oIF1S 8cm &
Bxh=qg .ﬁTAD@rmscm%Fﬁ
ffef@a & & slaar g

h=¢6 gem?
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[0+ One of diagonal of a parallelogram
is 10cm and an angle of the

parallelogram is % If its height be

8cm then find thjarea of the
parallelogram: ws®

mﬁmmmw
fa?b'Ui'10cm%3ﬁTW?ﬂ'UTn

%Wsﬂ?ﬁm8cm%a’f

SHST AThd ?
112cm? b) 88cm?
c) 92cm? d) 104cm?







|l. In a parallelogram ABCD, there is a point E
C inside the parallelogram such that area of

D AADE = 6 sq. Unit, area of AAEB =
10 sq. Unit and area of ABEC = 8 sq.
Unit. Find the area of ADEC.

FATFR °J3et ABCD H @k g £ 390

|0 yHR TAf € fF AADE (8% = 6 sq
Unit §, AAEB(&3%d) = 10 sq Unit 3R
A R ABEC (&%) = 8 sq. Unit & ADEC &1
ATHA TdT F|
4 b) 8
c) 12 d)7.5







/2. In the given figure, ABCD is a

C

parallelogram. P and R are the
mid- point of the sides AB and
CD. What is the ratio of the
areas of shaded and the
unshaded region?

ar 1§ 3Fdt A, ABCD TH
AR a?rsfisr %| P 3R R
3TSTT AB 3D ¥ ALy g Bl
sifra 3R

AT & &% HT AT FIT
gIaI?

a)1:2  pj1:3

c)1:4 d) 1:5
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